4FT. 3 SEAT FREE STANDING SQUARE TABLE

Description Qty.
4’ Square Table Top 1
40” Seat 3
Sq Table Leg Bracket 1
Sq Table Leg 6
3 Seat Sq Table Leg 2
3/8” X 1-1/2” SS Hex Bolt 20
3/8” SS Nylock Nut 20
3/8” SS Flat Washer 48

Drill out holes on the Table Top, Seats, Stands and Braces with a 7/16” dia. drill.
Attach the Stands to the Table Top loosely using the 3/8” x 1-1/2” SS Bolts.

Attach the Seats to the Stands loosely using the 3/8” x 1-1/2” SS Bolts.

Attach Braces to the Stands and Table Top loosely using the 3/8” x 1-1/2” SS Bolts.
5 Tighten all bolts.

In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or
other reproductive harm.

AW =

Periodic check of bolt tightness recommended.


Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.




